AQA Level 2 Further mathematics Further algebra

Section 3: Inequalities and indices
Section test
1) Solve the inequality 4x + 1 >x—8

(@) x=1 (b) x < -3
(€) x> -3 d)x< 3
(e) I don’t know

2) Solve the inequality x+l < 2-x

2 3
(@x< i (byx=>1
€ x= 3 (dx<1

(e) I don’t know

3) The largest value of x which satisfies the inequality 2(1—-2x)—x>3(x+1)+7is

02 @1
C
(e) I don’t know

4) x2-5x+4<0

@1,2,3and 4 (b) -2and -3

(c) -4,-3,-2and -1 (d)2and 3

(e) I don’t know

5 8+2x—x2<0

(@-2<x<4 (b)x<-2o0rx>4

(c)x<—-4orx>2 (d)4<x<2
(e) I don’t know

6) 6x2+x—-2>0

a) X<—-lorx>2 b) —2<x<i
2 3 3 2
(c) x<—-2or x>3 (d) —3<x<4%

(e) I don’t know
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7) 271 =
1 (b) 18
(a) 18
1 (d)9
(c) 9
(e) Idon’t know
4 -3/2
8) (Ej _
125 8
(a) g (b) 125
125 8
(c) ) (d) 125

(e) I don’t know

9) The expression 3a’bx (2ab?)® +4ab” can be simplified to give the expression

6a’ 6a’
(a) e (b) Peg

20a* 20a’
(c) 0’ (d) rxa

(e) Idon’t know

10) Simplify 8°x6"2 +32%?
@ 443 (b) 243

(e) Idon’t know
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Solutions to section test

1)

2)

4)

The correct answer is (¢)

4xX+1 2 x—8
3x+12-8
3x2-9
X223

The correct answer s (@)

2 3
B(x+1)<22—x)

BX+3Z4—-2x
E5x+3<4
5x<1

X< £

The correct answer is (a)

20 -2x)—-x>2(x+1)+F
L—4xX—x>3x+3+F
2-5x>3x+10
2>8x+10

-£>8x

1> x

X< -1

The largest tnteger value which satisfies the equation is -2,

The corvect answer is (o)

XP—5x+4<0

(x-1)(x—4)<0
From graph, 1 < x <4

The integer solutions are 2 and =,

_—

\

y=r-5x+t4
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5) The corvect answer ts (b)

\ /g=/(2—:2)<—8

E+2x—x* <0 2 4

If you use the original
inequality, the graph
will be the other way
up and you will be
looking for the parts
below the x-axis.

X*—2x—-8>0

(x—4)(x+2)>0
From graph, x < -20r x > 4.

&) The correct answer is (¢)
Y= xR+ x-2

x>+ x—2>0

|
m/lk)
>

(zx+2)(2x-1)>0
From graph, x<—2 or x 2%

F#) The correct answer is (o)

272/3 = (3/27)2 =3? =9
g) The correct answer Ls (¢)
(i) _ (E) (=) - (zj _125
25 4 4 2 £

9) The correct answer is (a)

sa7bx (2ab=) + 4ap® = 2T

4ab”
24a°b™° . ea*
="  =¢oa*h7 =——
4ab? /e

10) The correct answer is (a)

2° x o £ 3n¥? = (2%) x(2x3)*2 = (27)%2
= 00 xot/2 x gt/2 2 515/2
N e VPR
= 92 x 3/

=43
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